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1. Property One for Exponents: Ifr and s are any fwo whole
numbers and a is an integer, then it is true that:

al' ° aS — af’—i—S
Example 1: Simplify each of the following.

a xt = %
- paf"
345
b. x3x° = ?‘\8
- K
4
c. 2x%e3x* = 23 XK
- é* xz.-r‘!

= (L x°

2. Property Two for Exponents: if r and s are any two whole
numbers and a is an integer, then it is true that:

FS rs
(&) ="

Example 2: Simplify each of the following.

%Y

a. (x3)4 1 ?;n_
55
b 2(x) = 2L+ %
5
=2 %

3. Property Three for Exponents: If ris a whole number and a and
b are integers, then it is true that:

(a-b)r =a't’

Note: Portions of this document are excerpted from the textbook Prealgebra, 7" ed. by Charles
McKeague
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2D
B nir R
Example 3: Simphfy each of the following. 2. e
a. (ZX) = ’2 X .
= 9 L
?( H$ o= “’é"%
v 53¢ e
b (4°) = S {K}&
=i - ¥
=i x

4. Simplifying Using More Than One Property: Use the order of
operations agreement and the three multiplication properties of
exponents to simplify.

Example 4: In each of the following identify the properiy used in
each step.

o (2y)(oy*)=(203)(ex )y

=6x"y’

b (3¢y?) =3 o[ o(y?)

=81x*y | \ fﬁb‘vj\ﬁ
Example 5: Simplify each of the following. gy &f
a (a¢y’) = (Y & ef) - Tl
=1k x>,y .
= 1 xy® '5?‘;‘— 33
25 202
=%

Note: Portions of thYs documentare excerpted from the textbook Prealgebra, 7" ed. by Charles
McKeague



Practice Problems. Use the Multiplication Properties of Exponents to
simplify each of the following:

a. 4x°e5x° = Liag-xz; 3@5
= 90 x’%%‘g
=20x8
E o5 Duhd
B £°=5: 55
- |2g
3 3
c (5x)3ﬁ S % <D WAL
= 125 % 2%= 20

Answers to Practice Problems
a. 20x% b.x*; c. 125x°% d. 16x""; e.10x*y°

Note: Portions of this document are excerpted from the textbook Prealgebra, 7" ed. by Charles
McKeague



9.2 Adding and Subtracting Polynomials

1. Vocabulary:

e A variable is a quantity represented by a letter.

o A polynomial is the sum of terms that contain variables raised
to positive integer or zero powers and that have no variabies in
any denominator.

¢ A term is one of the addends in an addition expression. For
example, in the expression 2x + 4, the terms are 2x and 4.

e The parts of each term that are multiplied are the factors of the
term. For example, in the term 2x from the example above, the
factors are 2 and x.

» Like terms have the same variable factors raised to the same
powers. For example, in the expression
2%° + 3x+ 7+ 3%* +4x+9, the 2x* and 3x? are like terms, the
3x and 4x are like tefms, and the 7 and 9 are like terms.

2. Adding Polynomials: To add two polynomials, use the
commutative and associative properties of addition to rewrite the sum
so that like terms are grouped, and then use the distributive property
to combine like terms. '

Example 1: Simp.lify.

a. (2x+7)+(4x-9) = (2x+7)+(4x+(-9))
=2X+ 7 +4x+ (—9.)
=2x+4x+7+(-9)

=(2+4)x+(-2)
=6x-2

- _ = §x 33 %g;g'%q
b. (5x—7)+(3x+9) - (gg%gg) L oM tal

= ¥ t2

Note: Portions of this document are excerpted from the textbook Prealgebra, 7" ed. by Charles
McKeague



c. (2x2 +7x+4)+ (4)(2 +9X+ 8)
= 2 TN e YU Ex +E
={2xt +4xt) t(Pxthx) (48)
e {4 {bx TEL

3. Negating Polynomials: If there is a negative sign directly
preceding the parenthesis surrounding a polynomial, the negative
sign applies to each term inside the parenthesis. Use the distributive
property to distribute the negation to each term inside the
parenthesis. You may think of the negative preceding the
parenthesis as a —1, and use the rules for multiplying signed
~ numbers.
Example 2. Simplify.
a. —{(5x+7)=-1(5x+7)

=(-1)(5x)+(-1)(7)

=—5x+ (J)

=—86x-7

b. —(3x+6) = =) () + (i)

d -~ (5)(2 +7X~ 6) = 5 '%“{"‘“%{?QK) o {mg}@@}
= ~5x ER) e
= ~Sxr-3x 16

Note: Portions of this document are excerpted from the textbook Prealgebra, 7" ed. by Charles
McKeague



4. Subtracting Polynomials: To subtract two polynomials, change
the subtraction to addition of the opposite and then add.

Example: Simplify.
a. (2x+3)—(5x+7)=(2x+3)+(-1)(5x+7)
=2x+3+ (--1)(.5x) +(—1)(7)
=2x+3+(-5x)+(-7)
= 2x +{-5x) +3 +(-7)
- (54)+ (4
=-3x-4
b. (3x+5*)— (7x+2) = 3x+S N7 xt2)
= 3xtS 4 NI + (L)
= Lyt + W) 2
= B3xtR) +5 (D)
= 4% +3
c. (7x + 8) - (6x — 9) = (7'x'+ 8‘) + (-1)(6x - 9)
= (7x+8)+(-1)(6x+(-9))
=7x+8+ (—1)(6)() + (—1)(—9)
- 7x+8+(—6_x)+(9)
=x+17

e. (3x‘2 +5x—5)—(7x2 —-2x-—4)
= 37 +5x =5 + (B + DK+ (D)
= 2 +6x% T(-5) (- H2x tH4
= 4t ¥ Fx w =)
= -t +Fx -1

Note: Portions of this document are excerpted from the textbook Prealgebra, 7" ed. by Charles
McKeague
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54@. Evaluating Polynomials: To find the value of a polynomial at a
given value of the variable, substitute the value of the variable into
the polynomial everywhere the variable appears.

Example: Evaluate the given polynomial at the given value of
the variable.
a 2x—Tatx=-2
2x-F=2(-D-F
==\-F
=\

F 20

O

b. 2x* +7x—-5 at x=—3 }
24ty -5 = 2B HF3ITS
= 2 () +{NHES)
=1¢ t(-20 TE5)
=3 +(-9)
= ——8 J

Practice Problems. Simplify each of the following:

a. (2x-7)+(4x-9) = 2x-3F T ¥x-q |
= {2y +4x) FL6EH H6901
= bx t+(-l6)

= bx~lb

b. (2x2+7'x+-4)+ .4-x2+9x+-8)

= 25 P+ rH T PG +E

= (22t ) ¥ (Petda) & (448)

= 6 vlbx 12

Note: Portions of this document are excerpted from the textbook Prealgebra, 7" ed. by Charles
McKeague
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c. —(6x+9) = ~\ (exta)
= 06 x) %—(*&}ﬁ‘i}
= -px +(-2)
d. —(5x2+7x-6)= EN(SxT) +ENFY) +0-0)
= =G L () + 0
= -Sx" ~Iwtéb

4 (6x-5)-(5x+2)= Gx4lS) + (-DIS) +(NE)
= 6 x +(=5) + {-5% +(-2)

e (ax-6)-(7x—4) = Hx +(-6) + (D) %ﬁ%‘)
| = 4y He) TP T4
= ~%x +(-D)
= ~3x~-2

Evaluate the given polynomial at the given value of the variable.
f. 2x* —5x-8 atx=-2
2R -Sx~f = 20~ —5(2) &
= 2{4)* 10 —&
= g + 0 ~&
= (-8
= |

Answers to Practice Problems |
a.6x—16; b. 6x°+16x+12; c. 6x-9; d. -5X’' -7 x+6
e. —3x — 2; f. The value of the polynomial is 10.

Note; Portions of this document are excerpted from the fexibook Prealgebra, 7" ed. by Charles
McKeague
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Section 6.1 Ratios

1. Definition of a Ratio: The ratio of two numbers is a fraction, where the

first number in the ratio is the numerator and the second number in the SHPW\L
ratio is the denominator. In symbols: ‘ T SR
Theratioofatobis % where b 20. !,a%’ ?f
28 2z
Example 1: Express the ratio of 16 to 48 as a fraction in lowest terms. i\‘é’ fs? _
- 2L A E 2
4% 2223 ' =222

PEATEN T R R T YZT TR
7

. 2. 4 | 4p=22228 T3
Example 2: Express the ratio of — to —as a fraction in lowest terms. \—M’“““‘?"‘“‘“
N

Example 3: Express the ratio of 0.08 to 0.12 as a fraction in lowest

o ) . ;. i T ? Z.,
terms. o0 . g e . B . ERL. 2 ,K
th :o‘gz‘ = @t {l = GL e :;Qo. izk par !l ! ?mié‘“eg R '}ég
"?55 _— —%;" “2 ';3
3 B=re
Hr=223
|

2. Applied Problems: In an applied problem, you may be asked to find
the ratio of one quantity to a second quantity. The first quantity becomes
the numerator of the fraction, and the second quantity becomes the
denominator. Reduce the fraction to lowest terms.

Example 4: One cup of breakfast cereal contains 21 grams of <D wle

carbohydrates and 2 grams of protein. Find the ratio of ]
carbohydrates to protein. (6.5
C&w’%[‘_‘-‘tciw%f - 2\ gronn’s * éar%hyﬁ@ 2 f‘?i"@
pre tein - Z- growms ot P""’ﬁ" Y -2
: i
-l R
-2 to
9 { <7 -,
2 &
- o S
|

Note: Portions of this document are excerpted from the textbook Prealgebra, 7% ed. by Charles D&Keavue
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Practice Problems |
a. Express the ratio of 18 to 27 as a fraction in lowest terms. | _£2i&. .
¥ iy
22 54
3{\5 3 3
Y N
¢ 24
£ kA
2% z ?\ §F
23
C. Express the ratio of 0.15 o 0.25 as a fraction in lowest terms S Dl P
@.a{; EOY
i5
= {00
E
Fe1a)
- A5 .
éo@ 2,5

d. One cup of breakfast cereal contains 32 grams of carbohydrates and
3 grams of protein. Find the ratio of carbohydrates to protem

3L grams o8 aawbakyawf:&_s . 3%.{@%; ot !)m 21
. 32 q{ams o cé#be%@@;
T B qrauns of protein
- 32

3

_Answers to Practice Problems
2 3 3 32
a — b. —c. — d. —
3 2 5 3

Note: Portions of this document are excerpted from the textbook Prealgebra, 7 ed. by Charles McKeague



Section 6.3 Proportions

1. Definition of a Proportion: A statement that two ratios are equal
o a C

is called a proportion. If -6 and 4 are two equal ratios, then the

statement

a ¢

b d
is called a proportion. The "a" is the first term, "b" is the second term,
"c" is the third term, and "d" is the fourth term. The extremes are the
first and fourth terms and the means are the second and third terms.

Example 1. Name the means and the extremes in the given

proportion. D etewss  peans
—_—— : sm = o6
10 12 bo = 6D

Extrewies | MeanS . TR-4E

5417 | j0ib

)
a c
2. Fundamental Property of Proportions: If —6 = E then ad = bc.

So, in any proportion the product of the means equals the product of
the extremes.

Example 2: Verify that the given statements are proportlons ‘Dw%
8 IO & _

a |20 = 20 :

1215 TROE! \k%
Extrowes  Meang o

g 15 F 10a% It .

| 16 ‘i ,Q
(E] [E) 28 . FlE L5 ;;2‘{

5 7 [ B g ] ) @ *@‘g

b. 725 = 55 #E7 29208
7 (1o 2 = &
10 3 ) T ?

Exfrefies £ Nl B §

ExY M‘f‘\e Wexns -

5 % _]t) ?,,

Noté: Portions of this docuinent are excerpted from the textbook Prealgebra, 7™ ed. by Charles McKeague



Example 3: Solve the proportion by finding the missing t_ M. 3wl

a 2_4 L %2;;3 E—— ! L2
37 oo 2.4 .
Exfrtues  Mesits, S g 13
Tw = 34 Z2o=5: .
wx 2 S s
_L-l,z;o}s - -L'w {3."" ‘ 1 - A
DRI i solubion s &, |
04 1 L - %@Méﬁ
b, — ==~ che el | p—
1 X 6.4 ;L- @@\4 H&
Extremes Whasn s — P T -
@“%’E& = {%:2)' %; - % }.U} ' q”i i 5‘2{
sy = L2 o (3= b - -2
. W1 ™= 1‘2' o
oM¥X _ Lz o oe ! a‘_g‘_.
0. R ot x>
¥ =3 \ RS

A8 The slution 153,

. (&

C. —=>=<
)
8 _
Extremes  yeans jcheelct 3 16225
| - J2 - Ty ) < =202
n (3 = 33{_3 y ne &7 ot S|
5" T gf L FU TR 3 e B
8 - E!g f , e %”_.- &‘
n. e /
g /
3;‘ ' éﬁ - -gweé- \_/}
3 g 3|

Ang The sdwhas is b,

Note: Portions of this document are excerpted from the textbook Prealgebra, 7% ed. by Charles McKeague




3. Applications of Proportions: To set-up a proportion, let the first

ratio compare two quantities in the first "situation", then let the second

ratio compare "like" quantities in the second situation.

Example 4: In the first of 4 games of the season, a football team
scores 68 points. At this rate, how many points will the team

score in all 11 games? & et x = viwmber of

Po { v&s

3/20

scored tw all “%&Meﬁ -w—éﬁw\ﬁ
Hgames llﬂmes 68
68 powts © X pownts 5\3’*(
- i hente i~
L’. _ B‘ ¢ e z LT
X oo
Extrewmes  WAeaWs . ¢ {183) | N
q.x = 68 iz . M 6§ =22
Yyx - &l x 1T W =22
= PANT i 7 ' —
ACRRRI . TR
X ?/‘714 Wuﬁ“t 41 'l;po
Y= 3 EE
X =183 L i
ANSL The Yeam witl scove l??poévﬁrs)
el y %m&?
Practice Problems: . .
Solve the proportion by finding the missing term. Iy
5_10 _ Ty
Extremiss Mepns - ¢ ‘%
wg'x._ = 4o 102 25 5\2,
-
Sx- W
5 5
L = :2-.; 24 2
!
X= £ {

Note: Portions of this docuiment are excerpted from the textbook Préalgebra, 7 ed. by Charles McKeague



B.b 4l
0.2 g e
\M Z zf‘i
¢
et ; —
0.2 4 *‘g'; . 22 oa b2,
06 x e R ¥ Lz,
Exiremes  Mesns o.6 (12} I EX
prw = 1| bay =Ees) =t
o 2% = 2 T4 =2 | =5
LN L E
on B o TRaE %
X =12

B 5, m,gd\&,{?‘;m 'S tz. , ~
Solve the following application problems by setting up a proportion and ;Fg
then solving it. 2
: Lf‘z-fz 33 ?—ﬁ
z
12
~

c. If 12 oz. of a cereal contains 4 grams of sugar, how many grams

of sugar are contained in 42 oz. of cereal? let x = Aumberofamams [1=2T3
. o
12 02. Cereal "2 62, cered ! sm}ér i dger |
- . e o £ ceveal
Y orans o1 su goF ﬁé}“‘“’k’é ] 2 ?‘:
l’i Vg @‘iﬂééﬁé{ A ; 23
i 2 iy . 4.2 .!.?:,"*’1‘ a2 H=2
12 = dZ J = i‘"‘a A A
é‘#’“‘eweg M éans gea_ga.;—; g@g arii
V2% = Lg 541 TRUE]
\zx = U2

d. An 8 oz. serving of a certain cereal contains 256 calories. How,
Syl

Let many calories are contained in a 20 oz. servirg? .
VX nawmer o oxlories T 2002, soruing ot féf’ﬁﬂ \ 9=2270 E:
Bomcersd 20 o, cered) cheeker, 202208 © A
&%& e.a\ovi_;esi T X calories g __:m},,,?;,,, 7 5b= 20 129 22;,
3.2 xo mRgpds | 256 L40 s i
#S X /? N 25 2. b0 = 20256 %"ﬂg ~
, - x
'&x%mws Yﬁmﬁ X= 1284 eyy =3
ax - 256w el \fas e
Answers to Practice Problems: ﬁﬁﬂ% gw

a. {8}; b. {12}; c. 42 oz. of cereal contains 14 g. of sugar; d. A 20 oz’
serving of cereal contains 640 calories.

Note: Portions of this document are excerpted from the textbook Prealgebra, 7" ed. by Charles McKeague



Section 7.2 Basic Percent Problems

1. Vocabulary: The following translations of certain English words to
mathematical symbols will be helpful to you in solving basic percent

problems.
English word Math symbol
is =
of . {
a number n e ml
what number n *%m_%:m—%
what percent L or | M |
5.9@ A

2. Solving Percent Problems Usmg Equatlons To solve percent

problems using equations, translate the sentences intc equations and then

solve the equations. Percent problems translate into three types of word
problems.
Type One: What number is 10% of 807

Example 1: Translate the given percent problem into an equation, and

then solve the equation. ¥ , - o
What number is 10% of 80? et A= unKnown vowalber

15/20

e R

71o% =00

| v F0 4 4
vi (O "-i{)\} {go) cm\ﬁ' OND 2places
w= 2 - (g)={0.10){90) L
o > %) =¥ 3«2 o
Anst 8 Ts 107 of 80, e ue! : .
\
< Pwid
Type Two: What percent of 80 is 20? 6 =2
Example 2: Translate the given percent problem into an equat[on and J4=27F
then solve the equation. : : 302
25
Fourteen is what percent of 707 106=2.5.7
) - Q - ] tE»
M= [z (1) o
t Lg 7”@ ¥} 7 t0
Iy f 3
= IE 1)
| K
l’__? M- ,.f;— ié’? f 25 TS
215 Z} . /,/

o
g aws Y {5 20% o €70,

Note: Portions of this document are excerpted from fhe fextbock Prealgebra, 7" ed. by Charles

McKeague
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Type Three: Fifty is 20% of what number?
Example 3: Translate the given percent problem into an equation, and
then solve the equation.

Fifty is 20% of what number? Let n= unlbaowi duw e r Y e

= (02)n elrecle ! - %ig y
5o = %'ﬂ 26 = (0.2 Y{ 150) -
2 58 - ir’:Qwam*ﬁ S0 50 ?f\gl
0 2 L TReE! % mo?
7_ = ;’2:% diplace
250 =W “FeE

&Ef?;': 5@ %ﬁ. ?r@%g @‘“@ ﬁﬁ@,

3. Vocabulary: Percent problems involve three quantities: a percent, a
base (usually a beginning guantity or a quantity used as a base for
comparison), and a final amount (usually the final quantity or the ending
quantity). In general, the percent times the base equals the amount. In
symbols: A=PeB. —
Example 4: In each problem, identify the percent, the base, and the
final amount. £
a. 50% of 40 is 20 The percent is 50%, the base is 40 and the
amount is 20.

b, 10%of80is8  The perantic 10%, vhe loase i< 0, ad B
the amonut /s &,

c. 15is50% of 30 The pereest (s Sok, the bate (s 30,md |
the aunount |5 1S,

4. Solving Percent Problems Using Propo‘rti"o‘ns_ Wirite the percent as

mount . w3e ﬂ""“?‘g
AR

as the other fraction.
base

Equate the two fractions, and solve using the Fundamental Property of *
Proportions.

one of the fractions in thé proportion and

Note: Portions of this document are excerpted from the textbook Prealgebra, 7" ed. by Charles
McKeague



Example: Solve each of the following percent problems using

proportions. Let v = vullnowa nuwapey _ _
a. What number is 15% of 637, use A=FPP \P= 154 =048 |
ho oo, 15 - et et or_ ; R=6%
63 " : 8 =
: LY IR
%l eﬁé - M a@”g} \ s V' o15
5 EBTE,
"= Q&%’ A O1T5 2oy 3-»&;;[%
" 630 %5
ﬁ“ﬁ%i @5 %g ; b §§ ?@ @“@‘ é%a , q’.‘.{-é &
b. What percent of 42 is 2-1? - A
2.0 o !
EORTI Y et S
3+ oA 2 o) -
2&%«} Lo 42 | ,5 7 75
o6 O

A 21 100 = SO 42 Ve 4o W |
A4 2100 F 20 Vo~ RS
oo b - teg A |

§

too k28 | . son b s 2l
Lo me-w S,

o =N 1 e . n G
c. 25is 40% of what number? tLet = uwkwmm ﬂue«j@w - P=H0L=04
25 - Gnﬂ”% \ %\ %&a a\f& A ? ' y&\‘:ﬁ
v \&hecic ! ; ﬁw _,é o
h 25 =4 b))l 22 =0, MY Vico
U v ! C )5 AR zg & M:‘Q
|y T @1"‘5&4 25 - éZﬁ
SR i B Ll_{"gf 6.0
25 - 9‘__*‘%‘4. gg.py = HAGRE —~
bz25 = W T‘%v%ﬁ Y
: m»"g.,é}
Ans: 95 is 407 ot 2.5, % —5

Note: Portions of this document are excerpted from the textbook Prealgebra 7™ ed. by Charles
McKeague
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b - o030 676
.03 5.:0% < TRUE
2200 = N 'es
e
o

T

Practice Problems. Solve each of the following percent problems using
either of the technigues given above.

| et ;4_ Ualuanin, huwalogs

a. Fifty percent of 120 is what number? _
uge A=P B | D=5074 = "ﬂ N ule
12 chae ) © AR =120 S
9 ':'@w%>052'9 s gy NE 3 e . ; {0
{_% é) ""‘i@*% w?@ E T 1% B £ t
g&‘.’% = é‘@ @ A - i " ! 20
0~ 60 o5 Iy
' TeieE! e
| 6538

Ans: 5079 ot 120 ;,5(9@.%

b. Three percent of what number is6? Let usw w.d- .
uye A= P B 1 d».u,&» ‘
6= (0.03) N | ¢ =(0.0D200)

2

g}p gj}é @"'{ 2’&}@ ggé;

c. 34 is what percent of 857 Let 55
use ﬁm?-%jwfﬁ )

d
24 -
5 .26 -2
#s wo e rra
2 - ‘ﬂ_ f»’ i~ 1
20 l "?"&,g f 200
§%e | e ! 9 80
96, w0 A | el
i .

Lo ANS' 2 |5 Hok .TES,
Answers to Practice Problems: ™ __
a. 60; b. 200; c. 40%

Note: Portions of this document are excerpted from the textbook Prealgebra, 7" ed. by Charles
McKeague



Section 7.3 General Applications of Percents

1. Vocabulary: The following translations of certain English words to
mathematical symbols will be heipful to you in solving word problems that
involve percents.

English word Math symbol

is =
of .
a number n
what number n e ww“%"
Ty LOLEMA ]
- what percent n — :‘i;—cl wa P

Percent problems involve three quantities: a percent, a base (usually a
beginning quantity or a quantity used as a base for comparison), and a
final amount (usually the final quantity or the ending quantity). In general,
the percent times the base equals the amount. In symbols: A=PeB.

2. Applications: To solve percent problems, translate the word problems
into equations and then solve the equations.
Example 1: Solve each application problem by setting up an equation,
and then solving the equation. Use the proper format: Write a
statement identifying the quantity that your variable stands for; set up
an equation, solve the equation, and then write your solution in English
words.

a. Forty percent of the students in a particular class made an A or B
on Test One. If there were 35 students in the class, how many
students made an A or B? R

sV

Stodement: Gp%, ot 35studends wade an A
&4—{‘ Y Vi i Joe ot~ Q'f‘uie,dg wito wlamég M)ar*ar%o% L‘Qf‘ﬂ%“‘{
Use A= PB ity Pzwr=0.4 B”BS‘@JAm

3
S5 n= (0.9) (35) Evy) ) 35

_— EL{ (0 L{){TS— ar L ~ O x0.4 lﬂ{f—’:uz

!Ltﬂ ! Oﬁ ~0 Y W

TRwE', ’E‘Elbﬁ"f

- 38 m“

% A“S’ Out ot ’S‘; S-Euiew‘%g b ‘H«e clmia, H SM@Q@K“ [ :i-‘;‘.%

Watke Gn A ov B s é-g,s"g“ Oune ﬁi: -

it T

.

Note: Portions of this document are excerpted from the textbook Prealgebra, 7" ed. by Charles
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b. A certain meal contains 850 calories, 255 of which come from
protein. What percentage of the calories is from protein?

T @50 dotal calovies {7

shafewent: 255 calores Gom Pira‘iefu is W]m* @VC{MP‘-&%

L&i"__,n_ NP T L TIPS p&mw:{“w’)ﬁ
(00

le | he PR ik P i, Bo¥S0,@d 4255

— 106 )
o, (2592 (%) (EE) ¥

et =D bale
Cha -
__ ! L =30
295 = _iiﬁﬁ | == C‘ | 3.3& 255. &
_ 1 g e = L32), Rer R
2652 F.5n n3s = o "8%;@ 206
255 > £.50 255=(0.3 &s6 | 85 %?5@;
t.S 25 255 = 258 " Ea— ¢
55
. &S50
(AWSE Out of Fhe BCO Lokt ga&mi?“‘? | 2558
: y
L 3@% seint  Froum ﬁf@f;{mi« . : '

Note: Portions of this document are excerpted from the textbook Preaigebra, 7" ed. by Charles
McKeague



